50

Lr=60
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510610

16m
55m

10



1000m 2000m 1

Lr=60
Lr=60
Vr=Lr"?=7.746
Qr=Lr"?=27885.5
n~=Lr"*=1.9786
tr=Lr'"?=7.746
%1 Il I i I
42
5 x16m -450m 2 x55m
-3.50m -8.90m
-0.9m
2
43
43.1
1 5 x16m
-3.50m 2 4 x16m -3.50m
1.98m
2166.94m’/s 2.06m 2.08m 2.08m
-0.90m 2 1 0.05m
2
2 1 1
1 Z -0.50m
1
Z=-0.50m 100
2.52m/s  1.91m/s
1 2
1 1
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4.3.2
2
-1.0m 1.77m 1.0m 0.50m 0.0m -0.50m 5 5
-1.0m 4-1
4-1
Zl m Z2 m
1 1.77 2.77
2 1.0 2.0
3 0.50 -1.0 1.50
4 0.0 1.0
5 -0.50 0.50
4-2
4-2
m Q(m%/s) q(m*/s'm) m/s  0+020 s
0+055
1A 0.60 400 3.13 3.50 430 0.30 1.36
1B 0.65 553 432 3.94 5.10 0.37 2.26
2A 0.60 406 3.17 3.34 4.02 0.34 195
2B 0.80 560 438 4.06 5.07 0.38 2.15
3A 0.65 408 3.19 3.15 4.0 0.26 1.70
3B 1.0 609 4.76 4.04 5.17 0.37 2.19
4A 0.90 466 3.64 3.68 4.27 0.73 1.69
4B 1.25 639 4.99 372 524 0.89 222
S5A 1.45 540 422 321 3091 0.60 1.79
5B 1.95 731 5.71 3.50 5.18 042 2.18
4-1
4-3
Q(m’/s) q(m*/s'm) o ° m/s
" Z m 0+055
1 1.77 1287 11.70 65° 3.10 3.85 448
2 1.0 1371 11.46 70° 3.05 4.02 4.03
3 0.50 1451 13.19 75° 3.30 3.16 3.56
4 0.0 1453 13.21 79° 3.42 3.38 3.65
5 -0.50 1470 13.36 90°( ) 4.67 3.62 4.06
4-1 0° 90°
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4-1

1B 2B 3B 4B 5B
0+020 V S5m/s 1A
2A 3A 4A 5SA 0+020 32 m/s 4.3 m/s
4-3 1 0+055
4.48m/s 4.0m/s
0+055 4.06m/s
4.4
1 Z=0.0m
0.1m 2
, 7<0.5m e<1.45m
1 7<0.5m
1
2 70°
-2.05m 80° -3.58m 90°
e=0.8m e=1.6m
3
4
2 Z 0.5m
4-4
4-4
m
e=0.2m H 2.5m
25 20 e=0.4m 0.5m N
e=0.2m H 3.0m
20 1.5 e=0.6m 0.5m S
e=0.2m H 3.0m
1.5 1.0 e=0.8m 0.5m S
e=0.4m H 3.5m
0.5 0.1 e=1.0m 0.5m
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0.4m/s 0.5m/s 0.3m/s
0+077
-8.90m
0.25kg/m’
0.05mm 0.1lmm
d=0.198mm r=1.46kg/m’
0.49kg/m’
0.25kg/m’ 15 30 60
15 30 5-1
51
m
kg/m? 0-180 | 0-120 | 0-060 | 0-035 | 0-003 | 0+020 | 0+055 | 0+120 | 0+180
15012 013 |010 |0.12 |013 |028 |0.17 |0.16 0.17
0.25 30 020 [026 [026 |028 |026 [027 |025 0.32 0.35
60 | 025 [033 [034 |049 [035 [040 |037 |0.50 0.54
050 15013 013 |013 [0.15 |026 |026 020 |[0.25 0.30
' 30 028 [024 [028 029 |031 [037 |035 0.42 0.52
30 60 60
6
6.1
L=20
0.8m/s 1.0m/s
0.8m/s 1.0m/s dsp=0.16mm
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6.2

12
80mm 54 80mm 50cm
100cm 100cm
80mm 8m/s 3m/s
0.3m/s 0.0m 84.3m’/s
0.25kg/m’> 60 60cm 30cm
30cm 60cm 6-1
6-1
m/s
6 8 10 12
6 8 10 12
6.3
80mm 8m/s
12 54 50cm
100cm 100cm
23cm 40cm
Im 3cm 3m/s
2
!
ey .
" e . e
|
M2z K O AL e A1 A e &
0.3m/s 0.0m
84.3m’/s 0.0m 0.3m/s
2
6.4
1
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15

60cm
4.4m
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